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THE OPEN UNIVERSITY OF SRILANKA
BACHELOR OF MANAGEMENT STUDIES PROGRAMME
LEVEL 03

FINAL EXAMINATION 2010

MCU 1205 - MICRO ECONOMICS
DURATION : THREE HOURS

DATE : 13™ FEBRUARY 2010 TIME : 9.30 A.M. — 12.30 P.M.

Answer Part A and four (04) questions from Part B
Part A

O (i) Using the Production Possibility curve analysis, explain the following.
a) Inefficient level of production.
b) Increasing Opportunity Cost.
| (06 marks)

(if) ~ What is the impact of the following given situations on the market condition. Use
lustrations to explain your answer.

a) Income of the people increases. Market for motor vehicles. ‘

b) An increase in the wage paid to labours in the tea industry. Market for tea.

c) A new construction technique allows houses to be built at a lower cost.
- Market for housing.

d) People expect a considerable drop in the price of computers in the future.
Present market for computers.

(10 marks)

(iii) a) Consider the following details of good X.

Price (Rs.) Quantity demanded (units)
12 /= 7,200

167/= 6,400

If the relationship between price and the quantity is linear, find the demand
equation for good X.
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a) ISO — Quant
b) Optimum Expansion Path

0011

b) The supply equation of goed X given as follows. -
Qg =-400 +50p '
Find the equilibrium price and quantity.

(06 miarks)
How is the consumer éqﬁilibrium explained under,
a) Cardinal Utility analysis and
b)  Ordinal utility analysis.

(06 marks)

Use jllustrations where possible

a) What is the difference between short and long run production function ?
b) Prove that Out-Put Elasticity of Labour is equivalent to the ratio between :

the Marginal & Average product of Labour. ‘
(06 marks)
Explain the following

(06 marks)

‘PartB

Using examples explain how the knowledge of Income Elasticity of Demand

~ helps a manager in making business decisions.
(06 marks)

Consider the following given details and calculate the Income Elasticity of
Demand for goods X and Y using both point and Arc methods.

Income Quantity demanded (units)

(Rs.) X Y
24,000 /= 20 10
30,000 /= 28 12

Comment on the value of coefficients.
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(D Suppose a person has an income of Rs. 1000/= to be spent on goods X and Y. If
price of good X, is Rs. 100/= and price of good Y, is Rs. 125/=.
a) Drive the person’s budget line.
b) Calculate the slope of the budget line
c) If person’s income increase to Rs. 1500/=, while the price of X and Y
remains the same what will be the out come 7
(06 marks)
(ii) . Suppose good A is a Normal good and good B is an Inferior good.
'a) Comment on their Substitution and Income effects. _
b) How can the respective Substitution and Income effects be used to
highlight the difference between a Normal good and an Inferior good.
Use illustrations to explain your answer.
(09 marks)
a) What factors determine the shape of the Long run Average Cost curve ?
(05 marks)
b) Fill in the below given table which indicates Cost figures of a hypothetical firm.
Q Total Total Total Average | Average | Average | Managerial
fixed | variable cost fixed cost | variable | tofal cost cost
cost cost cost
0 60 0 - - - .- -
1 - 28 - - - - =
2 - 48 - - - - -
3 - 63 - - - | - -
4 N 96 - - T - ;
5 - 140 - - - - -
6 - 198 - - - - -
7 - 280 B B - - -
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- g) Using examples explain why the product differentiation and advertising are important

0011

a) Can a firm that is operating ina Perfectly Competitive market determine the 5

price? Explain using illustrations and examples. (07 marks)
b) “Ryen a loss making Perfectly Competiﬁve firm can still continue to operate in
the market, as long as if.recovers its variable cost”. Do you agree 7 Explain using
illustrations.
(08 marks)
a) How is the profit maximizing condition of a Monopolist determined under ;
1) Marginal approach
@) Total approach _
Explain using illustrations - (06 marks)
b) «(Jnlike Perfectly Competitive situation, monopolist causes economic waste by
restricting out put.” Do you agree 7 Explain using illustrations. '
(09 marks)

for a firm operating in a Monopolistically Competitive market.

_ ' (07 marks)

b) “Monopolistically Competitive firms in the long run make zero economic profit?
Do you agree 7 Explain using illustrations. '

(08 marks)

- Copyright Reserved -
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